X=? | Multi-Step

Name:

|£J
Choose the best answer

Evan wants to buy a dictionary that costs $8, a
dinosaur book that costs $4, and a children's
cookbook that costs $3. He has saved $3 from his
allowance. How much more money does Evan need
to buy all three books?

8 12

13 15

|£J
Choose the best answer

In Logan's toy bin there are 3 red blocks. There are 6

more yellow blocks than red blocks. There are also 2

more blue blocks than red blocks. How many blocks
are therein all?

17 23

16 19

|£J

Landon has 5 red beads, and he has 4
fewer yellow beads than red beads.
Landon also has 5 more green beads

than red beads. How many beads
does Landon havein all?

beads
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Andrew had $15. Then he saved
$7 from his allowance and spent
$1 on a comic book and $1 on a
puzzle. How much money does
Andrew have left?

@
Choose the best answer

Dahlia has 8 red beads, and he has 3 fewer
yellow beads than red beads. Dahlia also has
7 more green beads than red beads. How
many beads does Dahlia have in all?

36 22

37 28

(]
Brianna had $31. Then she saved
$2 from her allowance and spent
$7 on a comic book and $9 on a
puzzle. How much money does
Brianna have left?
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Benjamin wants to buy a dictionary that
costs $4, a dinosaur book that costs $6,
and a children's cookbook that costs $8.
He has saved $7 from his allowance. How
much more money does Benjamin need to
buy all three books?

]
Luke has 4 red beads, and he has
3 fewer yellow beads than red
beads. Luke also has 8 more green
beads than red beads. How many
beads does Luke have in all?

beads

|ﬁJ
Choose the best answer

William's mom gave him $20 to go shopping.
he bought a sweater for $6, a T-shirt for $5,
and a pair of shoes for $4. How much money
does William have left?
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Choose the best answer

Caden wants to buy a dictionary that costs $9, a
dinosaur book that costs $6, and a children's
cookbook that costs $1. He has saved $4 from his
allowance. How much more money does Caden need
to buy all three books?

12 15

16 13

#11

Choose the best answer

Nathan needs 19 paper plates for a
birthday party. He already has 8 blue
plates and 7 red plates. How many
more plates should Nathan buy?

#12

Choose the best answer

Caden has 4 red beads, and he has 3 fewer
yellow beads than red beads. Caden also has
4 more green beads than red beads. How
many beads does Caden have in all?

11 12

17 13
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Question Answer

#1 12
#2 17
#3 16
#4 20
#5 28
#6 17
#7 11
#8 17
#9 5

#10 12
#11 4

#12 13

@) TeachMe cc3.74

TeachMe, Inc. ©2025 All rights reserved.



